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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH. ‘

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section. '

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.

1 SKYC-U-PHLY



1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

Qus ‘A’ SECTION ‘A’

frafafaa # ¥ v &1 aHT 150 =51 H G S Gf

Write short answers to the following in about 150 words each : 10x5=50

‘vt & famn sfRm-ag gfdm ® T sRa-aw @ fea wwem R €17
IR FIF & el A foa=mn fifrg 75 fora var @re gigag qar sgwear &
T A © |

“Precepts without concepts are blind and concepts without precepts are empty.”
In the light of this statement discuss how Kant reconciles rationalism with empiricism.
- 10

“siereT ggTce acaTa i wiRT ® |7 30 R & e § shiem @ wwee & fog
T & i it fad=mn fiftrg |

“History is a process of dialectical change.” In the light of this statement discuss
Hegel’s approach in understanding history. 10

"3 aEg I WA Tl I TR © S hael A9 @ Afar: Afeeaa™ 8, iR

S w@aRa Foavia Fafiag 217 3@ w9 & s A fans & faaea
@A gadl TRt &t foasmn fifsg |

“That thing is said to be free which exists solely from the necessity of its own nature,
and is determined to action by itself alone.” Discuss Spinoza’s views on freedom and
determinism in the light of the above statement. 10

Safth H ST H AAdE A U PG (8 FHR oA Hl QEHM AT
rauren & foeg gfth wega Fxa ® 7 seEmTces e fifvrg |

How does Kierkegaard argue against Hegel’s idea of universal spirit in favour of the
individual as the essence of spirit ? Critically discuss. 10

7e fig F & fou & dvciwoeres yrwiee fofa wwa € wie = giwat wega a=a
7 7 Argrew faa=mT Sifsrg |

What are the main arguments offered by Kant to prove that apriori synthetic
judgements are possible ? Discuss with examples. 10
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2.(a)

2.(b)

2.(c)

3.(a)

3.(b)

3.(c)

"HROCT HEA o ARSI (g TR TR 3fed et fowg &' g@ S @ o &
AT faverwor Ao |

Critically analyse Hume’s argument that causality is a matter of habit/custom
involving psychological principle of association. 20

IRET o ATEATAhal AT AT o s WG T AT T&ga hiforg | a1 T8 W= Hiew
Y H WA A T9T GG i THET H AW Wed T § ? SFaa Sgreen afed
ST I |

Present an exposition of Aristotle’s distinction between actuality and potentiality.
Does it provide a solution to the problem of being and becoming as presented in
ancient Greek philosophy ? Discuss with suitable examples. 15

THA o1 ST Wedd faga 9 9 AaR | R die S @ved a1a §, Sl SAreAn

it |

Discuss Descartes’ theory of innate ideas and the grounds on which Locke refutes
it. 15

T ATfheh HTEETGHE GRT JEaTiad daHEr <Y sreispfa 3 it aaen s/ar 79 &t
T AT AT o @e H quedn a1 R 3 Al A 9 g ® ? Iugh Sereun
afed = Hifs |

Does the rejection of metaphysics as proposed by Logical Positivists relate to problem
of meaning or problem of knowledge or nature of things or all of them together ?
Discuss with suitable examples. 20

TERA < agfayTEE fafl § Frgie a9 Ju=ead F Ao S W Hg |

Elucidate the significance of bracketing and reduction in Husserl’s
phenomenological method. 15

‘YN TR TN TG R ¢ IR TS IE el e N [F A § | 30 I & 3TeAleh # |1 I
AT Y SaEReT h W@ faivaret Ft SSeR A |

“Consciousness is what it is not and is not what it is.” In the light of this statement
bring out the chief features of Sartre’s conception of consciousness. 15
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4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

Wi =fth o Tk A FGURIT 1 AFd § ? AE-WR gadrg & forg sae =
fafeard € ? o= Sifsg |

Why does Strawson consider person to be a primitive concept ? What implication
does it have for the mind-body dualism ? Discuss. 20

WA & AER Fg WAy — W H FhEE A9 TS g M AR § ?
ArerATee T Hifsg |

Why according to Russell is the proposition — “The present king of France is bald”
problematic ? Critically discuss. 15

for i@ @R & faeiveerza ot '@ ot & Re-fagma @ ot & wamr-fagea i
AR o oA § ? AR fa=er hifsig |

What were the main reasons that led Wittgenstein to shift from picture-theory of
meaning to use-theory of meaning ? Critically discuss. 15

gus ‘B’ SECTION ‘B’

Frafoafaa # @ uds &1 & 150 v=81 # dftm IR R

Write short answers to the following in about 150 words each : 10x5=50

“aeft T T S ® T 38 SR anE ® |7
SIRITh HUF & ATl § ST o quai+a g it se=arers wen Hifsa |

“All human knowledge is empirical and therefore relative.” Critically examine
Jaina theory of sevenfold judgement (saptabhanginaya) in the light of above
statement. 10

“afs qew 3R Wkt 31 Of €9 A @A qE S A 3 oA & o IS Wt Hay e e
17 3 T & ARG A AR H GG Gqdg Hl AT H afe e g
HI |

“If Purusa and Prakrti are two completely independent realities, then no relation
between the two is possible.” In the light of this statement make a brief presentation
of Sankara’s criticism of Sarnkhya dualism. 10
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5.(c)

5.(d)

5.(e)

6.(a)

6.(b)

6.(c)

7.(a)

HEEH A @ At i Aeqarat v w1 § ? aft frawor @fvrg |

What is Advaitin interpretation of the great sentence (mahavakya) ‘Thou art that’
(tat tvam asi) ? Briefly discuss. 10

NIt F w7 - “IwE wE = AlERt S § 9 e e saeE 7 -
& WY H IR T R aERn H foewor wega Hifog |

Present an account of VaiSesika’s view of negation in the light of their statement —
“Negation always has a counterpositive and absolute negation is an impossibility.”
10

FRfer & T3 & SR fawmsm & afore (Yuorss) & w@eg qun qfie &
AT hifag |
Explain the nature and role of Supermind in evolution as per Aurobindo’s

philosophy. 10

YR H @ AR R G FURISHT A TAHES gRT N T AT R
it |

Discuss Ramanuja’s criticism of Sankara’s conception of Brahman and I§vara (God).
20

ST AT T HEE Hel g HIT |

Present Bhatta’s view of anupalabdhi (non-cognition) as a valid means of
knowledge. 15

Farfieni & witferes Ta reltfereh woae gt foemt Y waw fiftte | e sraan sl
W TAE BT €, 30 AR A A F1 F I G € ? fad=an hifdrg |

Elucidate Naiyayikas view of ordinary and extraordinary perception. Are they
justified in accepting that universals are perceived ? Discuss. 15

Iy 7 & Ui A F GeH § ATt i Femww N s@urn wE fif |

Elucidate Naiyayikas account of fallacies of the middle term in relation to five
characteristics of valid middle term. 20
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7.(b)

7.(c)

8.(a)

8.(b)

8.(c)

Feqaqii=al & FTER Ae g wre g Wil (wee wiit) § | 3@ e @ s T
THR IS & TWE 9 § ? gt fewfirat afeq faa=mn fifto |

Liberation is defined by Advaita Vedantins as ‘attainment of that which is already

attained’. How does Sankara illustrate this statement ? Discuss with your own
comments. 15

a1 ¥ & FgER faw @ fawgfaat 6t sren fifsg | 9 ol it & Ry
&1 TG =1 a1 87 310 SR F ue § ah Wega g |

Explain Chitta and its modifications in the philosophy of Yoga. Why does Yoga
philosophy prescribe cessation of modifications of Chitta ? Give reasons in support
of your answer. 15

ARG H T ST g R Safeh SaH T4 g@ o I ® |7
IRITh AT & AT § gl o HIGNTE D ATAT T HIf |

“Ignorance of dependent origination is suffering while its knowledge is cessation
of suffering.”
Present an account of Buddhist soteriology in the light of above statement. 20

I | YR & URIT R U feult forfau | a8 s@uron fra weR @i &
FruaT fagra & wfaaer & Sarfiet i sq sroar fogea B aferen & gemar <t
2 ? eEAeds faa=an $ifig |

Write a note on Nyﬁya notion of Pragabhava (prior non-existence). How does this
notion help Naiyayikas in defending their position on causation against the Sarmkhya
view of causation ? Critically discuss. 15

T UG /g M A 37941 faiw & 3rqar gt o 3fi R © ? 36 fovg w =
TAT HET Al ISR Afed AT i |
Do words refer to universals or particulars or both ? Present an exposition of Nyaya

and Mimamsa position with regard to above question along with suitable examples.
15
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